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(A) 2036. (B) 2052. (C) 2068. (D) 2084.
5. T 2 —yi4+ax +y =12 BEBHEMHA ( )
(A) 4 2, (B) 6 xt. (C) 8 =t. (D) 12 2.
4
6. In rectangular coordinate system x Oy, line y =— 3 -+ 4 intersects with x-axis and

y-axis at point A and B. respectively. Rotate AAOB on point B 90 degrees clockwise to
/ANA’O'B. Then the coordinate of the point A’ is( )
(A) (—3,D. (B) (—2,5). (C) (—4,D). (D) (—4,3).
(3= N33 3 s rotate 3% # ;s clockwise A AF 4t o7 &g )
7. 8L f(a) = (a® —2014x —2015)In(x — 2013) IFMMADENC )
(A) 0. (B) 1. ©) 2. (D) 3.
8. % € (2,3) i, HARERX log, (2 — 1) — (& —2)" = 0 fH 7, WSEEL a 1 HUME 7 B2
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(A) f(x)+ f(x,) >0. (B) f(xy)+ f(x,) <O,
(C©) flx) — f(x,) >0. (D) fx)— fx,) <O,
" e | XY Ty =19, - o
10. CHINIERE x .y .2 {%E{IZ+10y2+22_61y+2y2_169’)\J xyz B C )

(A) 48. (B) 60. () 88. (D) 60 # 88.
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12. % R% f (2) =log; |a1—1\ RS KE T HE « =2 XK, Iﬂ'Ja— .

131X 11 +2X21 +3X31 4tk Xkl (=0 BARMET .

14. 7€ AABC "1,AB =8,AC =10,BC =12,% BD J& AC i LE’JEP%% M BD = .

5. BHES A=z | 2> —2014x +2013<<0},B={z | logox <m}(m € N, & A B,
W 1 fi /DM .

16. A KBRS f(x) =ax’ 4+ 2x +c BEBZEL0, o) M a?+c*+a+
c Wf/IME 2 :

17. As shown in the Fig. 2. Given AABC with BC =4 and circle A with ‘ e
radius 2. BC is tangent to circle A at D. The circle A intersects with AB and BDC
AC at point E and F, respectively. ./ EDF =140°. Then the area of the shaded Fig. 2
portion is . (3£ 73 2 tangent AB 3T 49)

18. K —1.a.b.c, — 9 W HEI, H ax?® +2bx +¢c =0 WWARN 2,2, M 27 + 25 =

19. f?@ﬂﬁﬂaﬁg* T P (asb)a 0.0 0) (TR 1 5 P9 A8 ARl B AY = A 98 00 T AR
T E (M KRR BT RE A .

20 A (1,2,3,0-,2014 ) AYHELE AR 28 0F . A — B0 5 — B0 2 48 R R
EH TR ZL 2

= BAETTGE M 4.5 40 5.)

21.% o = 3 gy =log [« + T —1) MRA (A RS & — .

22 FEEWES a, ) P g = 2,81 99 LAY FLE 56,0 o, = sas +as+tay,+ -
+ag =

23. A 3, {604 ABCD f,AB =1,BC =3 +1,AD =./6 ,/ABC= D c
120°, / DAB =75°,1l] /BAC = .CD = .

2. WHEE f1(x) =2 — xifila) —— 27 4 br — 4. f(z) = V6 [3+1
S U Z GO sy — SR f G 7E[0.a] b 4L
fo(x)sfo(a) > fi(a). 1
(IR £ a0 @ AR 0 P : A3

25. W f(x) =| 22 —m |+ 4x.

(D Y m=20,HE () <11+ WEUEEREE ;

(D # ) <2MMER |2 <2} Wm=__ .
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